IS 2wggds @)
Y= 55| (130) k43,
Yor=-de <o | stomgiRRYy
J=o0rt G- e Y-e®

A== 1 (X>0) IS
‘A(x)zzi—&iz’j# ookt fyx=| X=€

X2
flele [ hOatERERLEEAR TS
W 0
1‘(‘,; ; Ny ‘h)=0 et x=|
e || e | Tried| uiwdhE © st
N+ |+ 0| — en 23% ¢ fo;i ety X
/\(j) = O \_CJW:{:—*W: l\ 7\ > 0’{‘( &\ JAH o(i“jl “—:i“u(i_
#(:0 -]l o0l i0!|—
/
Q JAS S £ X ‘&E l ea
, K fd}«"li \Y ﬁoéi QJ[L Ji‘ [ ] IJ, 14“"/1“ +Z[‘ 4_1"-]

$
-y ( l
CRob -Q‘i‘@ &1 Wg(‘m)/

aewle ) ded
I
e
je _LO(L } Dy (1Yol 1= f Igio((ﬂ x)= [”"“i)z] 2/4/2'

l-' g_ 42+Z{2 _ZAZ (6 Z)QZ



